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SELF-TEST QUESTIONS
Chapter 1
True (t) or false (f)
1. Economics tries to understand how a society uses its resources, all of which are considered scarce.
2. Because it is so plentiful, water is not a scarce resource.
3. Firms control markets.
4. Governments have some influence over most markets.
5. The UK clothing market is a free market.
6. Opportunity costs are borne only by firms.
7. The following is a normative statement: ‘Because it is so important, health care should always be provided for everyone by the state.’
8. The following is a positive statement: ‘Because they are inimical to consumers’ interest, monopolies are usually regulated in some way by government.’
9. The rate of inflation is a microeconomic issue.
10. Macroeconomics deals with issues arising at the level of the economy as a whole.


Chapter 2

True (t) or false (f)
1. A change in the price of a good causes extensions or contractions in the quantity demanded.
2. Demand and supply in a market are always equal.
3. A change in the price of a good causes a shift in its demand curve.
4. Excess demand and excess supply can co-exist in a market.
5. Changes in consumer incomes influence supply.
6. If the price of sugar falls, ceteris paribus, more sweets will be produced.
7. There is a positive relationship between the price of a good and its supply.
8. Excess supply will usually prompt increases in price.
9. ‘Butter mountains’ in Europe are a product of the market mechanism.
10. The Common Agricultural Policy raises the prices of many agricultural products in Europe.
11. Price elasticity of demand measures the responsiveness of price to changes in demand.
12. When price elasticity of demand is less than 1, price reductions are associated with net losses in revenue for producers.
13. When demand is perfectly price inelastic the quantity demanded does not change regardless of what happens to price.
14. Demand becomes more price elastic over time.
15. Supply becomes more price inelastic over time.
16. The supply of rare fossils is perfectly inelastic.

Chapter 3
True (t) or false (f)
1. Savings on transaction costs are one of the main reasons for the existence of firms.
2. The legal entity of the company is valuable because it limits the liability associated with entrepreneurship.
3. Sole traders are at a disadvantage because they incur two tax liabilities.
4. In economic terms Facebook is bigger than some sovereign countries.
5. Firms are profit maximizers in theory and reality.
6. The essence of the principle-agent problem is the motivation of employees.
7. The presence of asymmetric information in a market enables it to allocate scarce resources more efficiently.
8. Counteracting institutions are always created by governments.
9. Charging different prices in the same market enables firms to increase their producer surplus.
10. In the Austrian view competition is the lifeblood of the economy.

Chapter 4
True (t) or false (f)
1. In the short run labour is the only variable factor of production.
2. Diminishing marginal returns occur when more and more of the variable factor of
 
	production is added to the fixed factor of production in the short run.

3. Marginal cost is the cost per unit of output produced.
4. Total variable costs rise as output increases.
5. Average fixed cost is constant as output increases.
6. If a doubling of both labour and capital results in a doubling of output, this is known as increasing returns to scale.
7. Economies of scale occur when costs per unit of output fall as output increases in the long run.
8. For a price taker, price is equal to both average revenue and marginal revenue.
9. Price makers face a perfectly elastic demand curve.
10. If marginal cost is greater than marginal revenue then, in order to maximize profit, a firm should increase output.

Chapter 5
True (t) or false (f)
1. Brands convey market power.
2. Perfectly competitive firms are price takers.
3. Firms in perfect competition can earn supernormal profits only in the short run.
4. Firms maximize profits by selling goods at the highest possible price.
5. Allocative efficiency for society as a whole is where firms produce an output which equates price and marginal cost.
6. When an industry is monopolized the outcome is always a higher price and reduced output.
7. In the long run monopolists can earn supernormal profits.
8. Imperfectly competitive firms are price takers.
9. Imperfectly competitive firms enjoy powers of market exclusion.
10. Firms with a degree of market power can engage in price discrimination.
11. Oligopolists enjoy powers of market exclusion.
12.  For institutionalist economists, capitalism is an increasingly uncompetitive system.

Chapter 6
True (t) or false (f)
1. Adam Smith’s The Health of Nations was published in 1776.
2. Privatization is an example of market failure.
3. Public goods may not appear at all if left to market provision.
4. Roads are an example of a pure public good.
5. The externalities associated with street performers are ambiguous.
6. Making a good illegal is an effective way of eliminating its supply.
7. Chewing gum carries negative externalities.
8. Chewing gum carries positive externalities.
9. The costs of state failure may exceed the costs of market failure.
10. The privatization of public utilities has made the energy and water industries as competitive as the car industry.


Chapter 7
True (t) or false (f)
1. Generally, wage levels are determined by the interaction of demand and supply.
2. Labour is a fixed factor of production.
3. The marginal revenue product curve is the firm’s demand curve for labour.
4. An increase in the price of its output will cause the marginal revenue product curve of a firm to shift to the left.
5. In the advanced economies over the last thirty years, the participation rates of women in the labour market have increased while those for men have decreased.
6. The reservation wage is the wage at which people decide to move between jobs.
7. When the income effect dominates, the individual’s supply of labour will fall as the wage rate increases.
8. Accountants, solicitors and other professionals are highly paid because they are relatively few in number and because of the high prices paid for the services that they offer.
9. The economic case is clear: minimum wages legislation destroys jobs.
10. Economic rent is payment to a factor of production above that necessary to retain it in its present use.

Chapter 8
True (t) or false (f)

1. Macroeconomics is concerned with the study of the behaviour and performance of the economy as a whole.
2. Economists use nominal GDP data to measure economic growth.
3. Whether or not the level of unemployment rises or falls over time depends on the extent to which flows into a pool of unemployed labour are counterbalanced by flows out of it.
4. Full employment is a situation in which all unemployment is frictional and structural.
5. Inflation is a process whereby the price of all goods and services increases at the same rate over time.
6. In the hypothetical case of inflation being perfectly anticipated, there are no costs of inflation.
7. The main costs of inflation arise when inflation is imperfectly anticipated.
8. The balance of invisible trade measures the difference between the value of goods exported and imported.
9. A persistent balance of payments deficit will act as a constraint on the achievement of other macroeconomic objectives and is a policy problem.
10. Stagflation involves a situation in which high unemployment and high inflation occur simultaneously.

Chapter 9
True (t) or false (f)
1. Classical unemployment occurs when the real wage is maintained above the level at which the aggregate demand for labour equals the aggregate supply of labour.
2. Frictional unemployment is also known as search unemployment.
3. Measures which increase the search time moving between jobs will reduce the amount of frictional unemployment.
4. Structural unemployment is also known as cyclical unemployment.
5. Policies which improve the mobility of labour will reduce the amount of structural unemployment.
6. Demand-deficient unemployment is also known as mismatch unemployment.
7. The cause of demand-deficient unemployment lies inside the labour market.
8. The natural rate of unemployment is the rate of unemployment that exists when the labour market is in equilibrium.
9. Governments can reduce the natural rate of unemployment by pursuing macroeconomic policies which stimulate aggregate demand.
10. New classical economists treat unemployment as an entirely voluntary phenomenon.
11. According to new Keynesian economists, it is neither profitable nor rational for firms to pay an efficiency wage which is above the market clearing real wage rate.
12. New Keynesians argue that NAIRU is affected by the path taken by the actual rate of unemployment.

Chapter 10
True (t) or false (f)
1. The quantity theory of money is a doctrine concerned with the relationship between the money supply and the price level.
2. Classical economists believed that, in the long run, a change in the money supply would lead to a proportionate change in output.
3. The Phillips curve depicts the relationship between inflation and unemployment.
4. Phillips found no evidence of a stable relationship between inflation and unemployment.
5. Friedman augmented the original Phillips curve with the expected rate of inflation as an additional variable determining the rate of change of money wages.
6. The short-run Phillips curve will shift upwards as individuals revise their expectations of inflation downwards.
7. Attempts to maintain unemployment below the natural rate of unemployment will result in a stable rate of inflation.
8. Gradualism is an approach to disinflation that involves a rapid and permanent reduction in the rate of monetary growth.
9. The output/employment costs of reducing inflation will be lower the faster economic agents revise their expectations of inflation downwards in the light of changed circumstances.
10. According to the new classical view, the unemployment costs associated with disinflation will be non-existent or negligible provided the policy of announced monetary contraction is credible.
11. In the non-monetarist view of inflation, rising wage costs are regarded as the initiating force of the inflationary process.
12. In the non-monetarist view of inflation, the chain of causation runs from changes in the money supply (and its rate of expansion) to changes in prices (and their rate of increase).
13. In the non-monetarist view of inflation, the introduction of a permanent prices and incomes policy is seen as the best way to control inflation.
14. Some economists argue that inflation can be caused by both excessive monetary expansion and various cost-push pressures.

Chapter 11
True (t) or false (f)
(Questions 6-10 are only for students who have read the appendix to the chapter)
1.	It will take approximately 24 years for an economy to double its productive capacity if its growth rate is 3 per cent.
2.	Real GDP per capita will fall when the real GDP of a country is growing at a faster rate than its population.
3.	The economy’s capacity to produce goods can only increase if there is an increase in the quantity of factor inputs available.
4.	Economic growth involves an inward movement of the production possibility frontier.
5.	Economists are unified in their views over what role the government can play in promoting economic growth.
6.	The Solow growth model predicts that countries with higher rates of growth in their labour force will have higher levels of output per worker.
7.	According to the Solow growth model the long-run equilibrium or steady-state growth rate depends on the saving rate.
8.	In the Solow growth model sustained growth of output per worker depends on technological progress.
9.	Endogenous growth models have extended the basic Solow growth model by making the rate of technological change endogenous.
10.	According to endogenous growth models differences in the level of investment in human capital can help explain the lack of convergence of output per worker in different countries.
11.	The business cycle entails recurrent cycles in a number of aggregate economic series. 
12.	Business cycles will vary both in their timing and amplitude.
13.	In the Keynesian approach monetary shocks are the dominant cause of business cycles.
14.	Keynesians contend that the economy will rapidly self-equilibrate after being subjected to some disturbance.
15.	In the monetarist approach the main cause of business cycles is fluctuations in autonomous expenditures.
16.	Monetarists argue against the use of discretionary monetary policy to control the business cycle.
17.	In the new classical approach supply-side shocks are the dominant cause of business cycles.
18.	The new classical approach maintains a non-interventionist position with respect to macroeconomic policy.
19.	Proponents of the real business cycle approach make a distinction between actual and potential output acknowledging that output fluctuates around its long-term trend.
20.	According to the real business cycle approach business cycles are primarily caused by demand shocks.
21.	According to the political business cycle approach business cycles are caused by government manipulation of the economy for electoral gains or due to partisan differences.

Chapter 12
True (t) or false (f)
1.	An example of discretionary policy is where the authorities are given the freedom to increase government expenditure during a recession.
2.	Policy rules tie the hands of the authorities to pursue pre-specified rules for fiscal and/or monetary policy.
3.	Keynesians stress the need for stabilization policy and argue that the authorities can and should use discretionary fiscal and monetary policies to stabilize the economy.
4.	New Keynesians suggest that shocks, both from the demand side and supply side of the economy, can cause undesirable and inefficient economic fluctuations.
5.	Monetarists argue that discretionary fiscal and monetary policies can be used to stabilize the economy.
6.	According to monetarists, an increase in government expenditure will, in the long run, crowd out some components of private sector expenditure so that real income remains unchanged at its natural level.
7.	According to the new classical policy-ineffectiveness proposition anticipated monetary policy changes will have no effect on output and employment.
8.	In the new classical view economic agents form their expectations in line with the adaptive expectations approach.
9.	The problem of time inconsistency of policy has provided another argument in support of fixed rules over discretion.
10.	According to the real business cycle view the authorities can stabilize fluctuations in output and employment using discretionary fiscal and monetary policies.

Chapter 13
True (t) or false (f)
1. The notion of comparative advantage suggests that all countries can gain from international trade.
2. Mercantilism has protectionist policy implications.
3. Ricardo highlighted factor endowments as the basis for a country’s specialization decision.
4. Economists generally suppose that there is a causal link between growth in trade and economic growth.
5. The Kennedy GATT Round is generally credited with dismantling the last elements of interwar tariff protection.
6. The majority of the world’s international trade continues to take place between its richest nations.
7. Africa’s share of international trade has grown steadily since 1970.
8. The growth of the Asian NICs can be explained by their success in international markets for primary commodities.
9. Despite the arguments for free trade, most countries engage in some form of protectionism.
10. The World Trade Organization was created by the Tokyo GATT Round.

Chapter 14
True (t) or false (f)
1. Foreign direct investment is recorded in the current account of the balance of payments.
2. Accommodating transactions are those undertaken for their own sake.
3. If a country runs a surplus on autonomous transactions, it has a net monetary claim on foreign residents.
4. Balance of payments disequilibria are usually only a problem when they become persistent.
5. When the dollar falls in value, US exports become more expensive.
6. When the pound sterling increases in value against the euro, holidays in France become cheaper for UK residents.
7. A dirty float is when the value of a currency moves wildly up and down.
8. The Bretton Woods System was centered on the US dollar.
9. Some economists think that currency speculators exert a stabilizing influence on foreign currency markets.
10. One ‘cost’ of EMU is the loss of the option for individual eurozone countries to engage in unilateral devaluation.

Chapter 15
True (t) or false (f)
1. Globalization refers to the spread of international trade and investment to hitherto excluded parts of the world.
2. Globalization has been fueled in part by the collapse of communism.
3. The global market in shares is the world’s biggest market.
4. Africa’s share in global merchandise exports has grown over the last decade.
5. Foreign direct investment in the US and Europe has fallen sharply as a result of globalization
6. China is the world’s richest national market.
7. The US is responsible for about one fifth of the world’s GDP.
8. [bookmark: _GoBack]The GDP per capita of an economy is a good indicator of the amount of money its citizens can each expect to earn
9. There is a 30-year gap in life expectancy between people in Norway and Sierra Leone.
10. The relatively low rank of the US in the UN’s Human Development Index reflects its lower levels of life expectancy compared to its peers.



